@7 to TR < %
[(n,m)] < [(k, £)] = n+l<m+k

TEHRTLEE, S FEFBERTHL Z L 2TRE.

fEF)  Hn+m=m+n<m+n & < DEXRLY [(n,m)] < [(n,m)] THD. (i) [(n,m)] < [(k,£)]
2o [(k,0)] S [(n,m)] #INETSD. S DERLY n+l<m+k, k+m<_l+n Ths. < I[I2JEF
ThHho1rb, n+l=m+k &7%5. FERER ~ ODERLY (n,m) ~ (k,0) THLH1H, [(n,m)] =[(
MSRS. (i) [ m)] < (0] 3 (k0] < ()] ZBETS. € OEHED n 40

k+q<{l+pThs.

m+g+k+0)=mn+0+k+q <(m+k)+k+qg <(m+k)+{L+p)=(m+p)+(k+¥{

EERERILY, n+g<m+4p B3 GEonDd. S OEREY, [(n,m)] = [(p,q)] THD. LEDZ &b, <
X Z LOIEFERTHS.



